THI6FORAERSD REKR

BRE BAEFBEERIEREHLE

B & A % & B H BE KR
TLooa—x fAE Mt XEBE 0157 b= 1%
MAYBLYBH A (FER fREHMmMEXREZE 0157 =
NZYBYDHA CHE) rEHMmEXEBE 0157 b= %
D) —L(KEH) fREHMmMEXREZE 0157 = 1
C A< (250g) EHMEXEBE 0157 b= 4
RILRILY—R (INE) g I KIZE 0157 = %
F3aL—ko—L fE M REEE 0157 = %
DEZAITHL(AYE) fREHMEXEBE 0157 = %
EAITHF—X (HlY]) 1ke e MM REZE 0157 = %
LY ZAIZeL REHMEXERE 0157 = %
/\3—(H1§)450¢g g M KIZE 0157 = %
NILAFF—X (80g) (EiR fAEHmEXBE 0157 = &
E+Y—2Z (490g) fAE Mt XBE 0157 b= 1%
AUMIT (DY) fAEHmEXBE 0157 = &
SUDMF (EZR T YY) fAE Mt XBE 0157 = 1%
2IAR—XEAFLY T GRER) fAEHmEXBE 0157 = &
TYYRD v L g M KIZE 0157 = %
S-Tqvia frEtmAEXBE 0157 b= 1%
—O&XX fREHMmMEXREZEE 0157 b= %
/5L (500g) frEtmAEXBE 0157 =
RIAIZTeL (B fREHmMEXREZEE 0157 =
AaFL fAE Mt XBE 0157 = %




THI6FORAERSD REKR

BRE BAEFBEERIEREHLE

B & A % & B H BERE
AFL UM EHMmEXEBE 0157 b= %
BMNEIEZ fREHMmMEXREZE 0157 =
BH<h fAE Mt XEBE 0157 b= %
BEH<H (Hyk-E)1/4 fREHMmMEXREZE 0157 = 1
BB (F) fAE Mt XEBE 0157 b= %
H£UVLE (500g) (FiR fREHMmMEXEZEE 0157 b=
FRHZ(ER fE LM REEE 0157 = %
KA F) (Bim fREHMmMEXEZEE 0157 = 1
RKEV)—L(FIaKE) fE M REEE 0157 = %
XKEEIL (HFE) fREHMmMEXBZEE 0157 b=
BREENIOvL frEHMmEXEBE 0157 = %
BEHE(ER) fAEHmEXBE 0157 = &
23 frEHMmEXEBE 0157 = %
BHH&% (FiR) fAEHmEXBE 0157 = &
BAE () (BiE frEHMmEXEBE 0157 = %
MRF—X fAEHmEXBE 0157 = &
MR F—X(500g) (BB fREHMmMEXREZEE 0157 4
FX fAE Mt XBE 0157 = %
BX fREHMmMEXREZEE 0157 = 1%
LAY T RH—K (350g) frEtmAEXBE 0157 b= 1%
AEIIL—YE)—(RES)50g g MM KIZE 0157 = %
AEBE— (JL—7)60g (&R fAE Mt XBE 0157 = %




THI6FORAERSD REKR

BRE BAEFBEERIEREHLE

B & A % & 1E H BERE
WREHL(T1L-11T) (30g) EHMmEXEBE 0157 b= %
mRHL(HiE-T1L) (40g) g MM KIZE 0157 = %
AEVDHL(FRE) (30g) fAE Mt XEBE 0157 b= 1%
AEVDHL (BRZE-#1T) (40g) fREHMmMEXREZE 0157 = 1
ARVNHLIALRSS (40g) EHMEXEBE 0157 b= %
REVAT—(HoUE) fREHMmMEXBZEE 0157 b=
ARVAF—(Avh) fE M REEE 0157 = %
AEITHIT fREHmMEXBZEE 0157 b=
ARITHIT (Hvh) e MM REZE 0157 = %
MEIEA fREHMmMEXEZEE 0157 b=
BRALLY (TL—) g M KIZE 0157 = %
AEMULDDIEIT —i (50g) fAEHmEXBE 0157 = &
mREFa—Y frEHMmEXEBE 0157 = %
AR EHF (25g) fAEHmEXBE 0157 = &
AEA0vT (AAY)60g fAE Mt XBE 0157 b= 1%
AEIOYT ($53%)60g fAEHmEXBE 0157 = &
AAEIOYT (FE) g M KIZE 0157 = %
AEY—EL IS4 (50g) frEtmAEXBE 0157 b= 1%
MREEND g M KIZE 0157 = %
AESIE(HIR) (30g) fAE Mt XBE 0157 = %
AESE (H1R) (40g) fREHmMEXREZEE 0157 b= %
ARSI (HIE-AY) fAE Mt XBE 0157 = %
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BRE BAEFBEERIEREHLE

B R 4 # & & A BE#®E
ARE(E (8E) (40g) EHMmEXEBE 0157 b= %
mRSHL (H18)30g g MM KIZE 0157 = %
MRSAE (HIE-FE) 30g fAE Mt XEBE 0157 b= 1%
AELLe (15g) fREHMmEXERE 0157 b=
AE 21— A (18g) EHMEXEBE 0157 b= %
MEVT—NAZ=AY fREHMmMEXBZEE 0157 b=
BRF XN (40g) frEHMmEXREBE 0157 = %
BEF XN 1N—7 (50g) g I KIZE 0157 = %
BEFENIN—Y (60g) e MM REZE 0157 = %
ARFXUHR—IL(SS) g I KIZE 0157 = %
ARFXUR—IL frEHMmEXEBE 0157 = %
REIFARRTERDEFFa3ILAVE fAEHmEXBE 0157 = &
AEA—IY (hybh) e M KIZE 0157 = %
AERRILRINL (BVE) fAEHmEXBE 0157 = &
MRUCERE frEHMmEXEBE 0157 = %
AELTH fAEHmEXBE 0157 = &
AR fREHMmMEXREZEE 0157 = 1%
MABNSBIT fAE Mt XBE 0157 = %
BEBA(EDE-5ghvh) g M KIZE 0157 = %
ARER(KDE-8ghvh) fAE Mt XBE 0157 = %
ARBEAR(KRD2E-£H-10ghvh) fREHmMEXREZEE 0157 =
MREBA(KD2E-LH-15ghvh) fAE Mt XBE 0157 = %
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BRE BAEFBEERIEREHLE

B & A % & 1E H BERE
MEBRA(REL-5ghvh) fAE Mt XEBE 0157 b= 1%
MEBA(REL-L-18R) g MM KIZE 0157 = %
HEREBIT(EZ) AkT BEHMERBEE 0157 (=3
AEEBIT (D) BERET fREHMmMEXREZE 0157 b=
R s (H18)(30g) fAE Mt XEBE 0157 b= 1%
RS (H1R) (40g) fREHMmMEXBZEE 0157 b=
mREE(HIE-AY) fE M REEE 0157 = %
nEERS fREHmMEXBZEE 0157 b=
MRBEERE (BEXSE) e MM REZE 0157 = %
ARG g I KIZE 0157 = %
MERRKEEBL frEHMmEXEBE 0157 = %
MEEF fAEHmEXBE 0157 = &
AR ELE frEHMmEXEBE 0157 = %
MEEE fAEHmEXBE 0157 = &
RIS (Fe) frEHMmEXEBE 0157 = %
AEREEN\ N fAEHmEXBE 0157 = &
ARBEA (1) 3mm3 X 3cm g M KIZE 0157 = %
AEBRR(O—R)3mm 3% 3 frEtmAEXBE 0157 b= 1%
ARBERALL fREHMmMEXREZEE 0157 b= %
MEBKRLY (M1 X 3cm) fAE Mt XBE 0157 = %
ARBEALY (R fREHmMEXREZEE 0157 b= %
MEBHRATSA (40g) fAE Mt XBE 0157 = %




